114 Schlafzimmer

BF:14.1m2

B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz

Betonschwelle
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Whg Nr.: H5a 102 Balkon

Typ: B10a

+3.20 = 611.70 M.ii.M. BF:10.8m2

- [RB:+3.06 [FB:+3.06 |
Zimmer: 3.5

HNF:

B: Flissig FKS
W: -

79.4 D: Beton roh

@

==

53d|i\ @

Typ: BD-20 WT =
BF:5.2m2
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B: Fliesen ! BF:2.8m2

W: Abrieb weiss 1.0/Fliesen : RB:+3.06 |FB:+3.20
D: Weissputz

B: Parkett (Eiche)
W: Abrieb weiss 1.0

D: Weissputz

113 Wohnzimmer
BF:34.2m2
RB:+3.06 |FB:+3.20
B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz

112 Kiiche

Typ: K-20

BF:7.5m2

RB:+3.06 |FB:+3.20

B: Parkett (Eiche)
W: Abrieb weiss 1.0/Glaswand
D: Weissputz
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111 Schlafzimmer

BF:15.2m2

RB:+3.06 |FB:+3.20
B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz

+3.02



114 Schlafzimmer

BF:14.1m2

RB:+3.06

FB:+3.20

B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz
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+3.20 = 611.70 M.u.M.

Zimmer: 3.5

HNF:

79.4
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Typ: B10a
BF:10.8m2

RB:+3.06

FB:+3.06

B: Flussig FKS

W: -

D: Beton roh
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Typ: BD-20
BF:5.2m2

RB:+3.06

FB:+3.20

B: Fliesen
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W: Abrieb weiss 1.0/Fliesen

_D: Weissputz

113 Wohnzimmer

BF:34.2m2

RB:+3.06 FB:+3.20

B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz
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Typ: K-20 |
BF:7.5m2 OO
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B: Parkett (Eiche) Q_Q
W: Abrieb weiss 1.0/Glaswand |
D: Weissputz 0 |
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111 Schlafzimmer

BF:15.2m2

RB:+3.06 FB:+3.20

B: Parkett (Eiche)
W: Abrieb weiss 1.0
D: Weissputz




